1.	A survey was carried out to find how much time was needed by a group of pupils to complete homework set on a particular Monday evening. The results are shown in the table below.


�


Calculate an estimate for the mean time spent on homework by the pupils in the group.


/4


2.	50 pupils are going on an educational visit.  The pupils have to choose to go to one of the theatre or the art gallery or the science museum.


23 of the pupils are boys.


11 of the girls choose to visit the theatre.


9 of the girls choose to visit the art gallery.


13 of the boys choose to visit the science museum.


�


a	Complete the table.


b	How many of the girls choose to visit the science museum?


/4


3.	In a town 1800 cars were stolen in a year.  The table shows information about the times of day when they were stolen. 


This information can be shown in a pie chart.





�


�


a	Work out the angle of each sector of the pie chart.





b	Construct the pie chart.


/8


4.	Two dice with faces numbered 1 to 6 are rolled and the sum of the scores on upward facing faces noted.


a	Complete the table of probabilities for the chance of scoring all the totals available.


�


b	Work out the probability that the score will be


i	more than 9,	ii	less than 5,	


iii	more than 6 and less than 10.


/6


5.	150 year 11 pupils took a mathematics examination.


The table shows information about their marks.


�


a	Complete the cumulative frequency table below.


�


b	Draw a cumulative frequency diagram to show these marks.





60% of the pupils passed the examination.


c	Use your diagram to find an estimate for the pass mark for the examination.


/7


6.	The table lists the weights of twelve books and the number of pages in each one.


�


a	Draw a scatter graph to show the information in the table.


b	Describe the correlation between the number of pages in these books and their weights.


/4


Total marks:  33


�
:  Answers








1.	(3 × 0) + (14 × 0.5) + (17 × 1.5) + (5 × 2.5) + (1 × 3.5)= 48.5


48.5 ÷ 40 = 1.21


/4


2.	a)


�


b) 7


/4


3.	a) 140º, 16º, 56º, 94º, 54º or answers that round to.


b) Sectors drawn, ft from (a).  If it fits overlay than (a) & (b) gets 3 + 3 or 3 + 2 dep. on labels and non-contradicting table.


/8


4.	a)   1/36, 2/36, 3/36 etc


b)   i) 10/36


      ii) 10/36


      iii) 15/36


/6


5.	a)  6, 23, 45, 90, 116, 135, 144, 150


b) cum freq diag drawn: ignore line between first point and the origin


c)	60% of 150 = 90


	150 - 90 = 60


     pass mark about 42 - 45 marks


/7


6.	a)   points plotted


b)   High positive, good accept description of relationship


/4
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